N\

® Installation Instructions
Fitness Range
FSO01N, FS004N, FSO007N, FSOO09N,

FSO010N, FS015N, FS016N, FS030, FS031,
FS032, FS033, FS034, FS035, FS036,
FS037, FS038, FS040 ,FS100, FS101,

FS102, FS103,FS104, FS105 FS106,
FS107, FS108, FS112, FS113

© Playpower Inc
E-post:hags@hags.com
www.hags.com

17736

(Fitness Range Issue L 15/05/2019




( N
ITEM REF PART Qty ITEM REF PART Qty
) \
1 940301 G_ﬁ'j 1 2 | 10261600 \&—-/4’ 4
- M16
1

3 10291600 4 4
M16

\M 500 x 500 x 50mm

790mm

A
>

500mm
N\
O
)
N

N\ ( )
° -—
J
([ ) ([ )

Fitness Range Ground Anchor

e S2 (50mm)
>C20-25

QJ\

<
<

120 Nm!

-~

>
>y

600mm
550mm

250mm

)/ /5-168&19-20

2736

Issue L 15/05/2019

(Fitness Range



1475

Footing detail for FS035 Step Challenge & FS037 Ladder

@17)

@ n)

7 \ 4
o
LN
~ @)
Lo o~
! 0.0 3| .
Py Py P | O
:' : o
Ve e o0 o
ol 8 SRR o @ 0
3| S 0,0 l
QI L [ :
Oy ol R i }
) oy A
A 2000
e () o
© S2 (50mm) ,
5 >C20-25 O ©
S
& 7 x 24h S
\ ~O
] o( bl o ) / )° o \ @ 101 § Q O ‘
!
]300
- 9200
(Fitness Range Issue L 15/05/2019 3 /36




Footing detail for FS038 Twister

b

S2 (50mm)

= >C20-25
‘W—’
(@)
s
Q o
(4p]
™ LOVE i 00
i e
ol 1
o Y]
S p
1
300|410
/I
3 1100 ;’
/
|
1
\
\\
(@) \
o
N
\
- 1100 _
436

Issue L 15/05/2019

(Fitness Range



'FS001N Ski Stepper 2300

A

v

M EN 16630

_ EN16630

— @)
@72 )

3536

1768

A
!

il
i

EN 16630

.

0.43m |

(Fitness Range Issue L 15/05/2019

5736




'FS004N Sit-up

4034

2017

________________________________

R B

< EN 16630

_ EN16630

@)

‘\Q@ 2 )

}
H

'

[

EN 16630

0.46m

(Fitness Range

Issue L 15/05/2019

6736




'FS007N Leg Stretch

2932
4)7 07 - = ;\CO %
s RS

< EN 16630

_ EN16630

(o)

3811

1776

[—TL—

EN 16630

(Fitness Range Issue L 15/05/2019 7 /36




(FSOOQN Parallel Rails

)

B 3542 B %
o
/ < EN 16630
A “ /,/’/ __________ \\\\A/
al N
vl I N
/ - \\\\ \ |
,/I \ « EN16630
| , |
(Q\] | | | | \
| | ﬂ : ' | i @35>
i | | | |
e
! | 1 ! T
S 5 i 3 Q@ 2 >
° -\ A -
| - i : ! |
| ; ] | |
| ||‘ | ,,‘
\\ \\\ / II
\\ \\\ I/
\\ //
\ N -7 /
AN //,
N -
“ \\\ _________ ’—/,/
_ 2000 _ 3 \
Itl \
1
EN 16630
. 1.46m |

(Fitness Range Issue L 15/05/2019 8 /36




(FS010N Push Hands

3949

S — e — - — - 4

!

v

EN 16630

A

[—TL—

EN 16630

Om

(Fitness Range Issue L 15/05/2019

9736




'FS015N Pull-up

1200
\ P T~ Q/
- N
s, e N
00 /,/ \\\ / < EN 16630
/ \ o,
\ “l\l.,ll‘““I
W EN 16630

@ %)

3916

1958

A

EN 16630

0.87m
(Fitness Range Issue L 15/05/2019 10/ 36 )




'FS016N Trinity Cycle

!

A

2418

4902

e —

- ——— -

v

EN 16630

3 2000 ? \
¢
EN 16630
0.94m
(Fitness Range Issue L 15/05/2019 11/36 )




p
FS030 Air Skier
_ 3348 _ /
I e T TTTTTITI T T T T
-7 N  EN16630
/, \\/
S .
- JRREN \ A

'II /I < EN 16630

| !

i |
o S —~(/_ 735 )
& T :
< | ;

i !

N \
\
N
Y Y S o
B 2267

il
'

EN 16630

.

0.48m |

(Fitness Range

Issue L 15/05/2019

12736




(FS031 Air Walker

v

/ < EN 16630
~ (i
~ i oo,

4154

2077

_ EN16630

—@r )

A

}

H

'

W

EN 16630

.

0.55m

J

(Fitness Range Issue L 15/05/2019

13736




(FS032 Rower

A

1935

v

< EN 16630

_ EN16630

4429

@ %)

B

il
i

EN 16630

0.61m

(Fitness Range

Issue L 15/05/2019

147736




(FSO33 Lat Pull Down and Chest Press Combo

v

EN 16630

“ - <&
//’/
/
//
/
, _ EN16630
/ / A
| !
. —~(,35 )
l \\
| . o
; —— e o
I | NS ©
N | /// ,
<t ! /
() ' :
Tp) i : !
| |
™ ! '
o |
,\ 1
N \ '
\ \\\‘~——-——"’/ //
\\ ’/
, /
\\ ’/’
o .
Y Y S R .-
3 2035 _ #; “
{
B 4070 B i \
EN 16630
. 0.59m |
(Fitness Range Issue L 15/05/2019 15/ 36 )




(FS034 Arm Swirl

v

< EN 16630

< EN 16630

B 3267 -
I )
b
o/ //
//
/
/
/ ;
< /
~ | . s
= C |
\ \‘ \
\ \ 7 /
5 \ i A s
© \ | ~ ! !
<~ \\ N |_ ___________ - wi
\\ \
\\\ -
| 1 e S -
2150
B 4300

@)
@2 )

[—TL—

EN 16630

(Fitness Range

Issue L 15/05/2019

16 /36




M12 INT.SH/PROOF WASHER

p
FS035 Step Challenge Ass’gmbly 11 [ 20 [M2INT.SHPROOF W 10301200
- 10 12 |4.8 x 16 ALU BLIND RIVER 10360516
, 9 2 |Step Challenge Label FS70000035
/// 8 1 [Step Challenge Top Step Tread GYM1811
//@\ 7 1 |Step Challenge Top Tread Support | GYM1809
,' 6 44 |Raised-head screw (M10x20) 10121020
ll‘ @ 5 44 IM10 Form 'B' Washer 10291000
\ 4 |20 [M10 T-Nut 10931000
\ 3 4 |Step Challenge Step Tread GYM1810
2 4 |Step Challenge Tread Support GYM1808
1 2 |Step Challenge Frame Fabrication | GYM1801
Balloon |Qty |Description Doc. ID
(Fitness Range Issue L 15/05/2019 17 /36 )




(FS035 Step Challenge

v

/  EN16630
N
\
(i
i

_ EN16630

—@ %)

@75 )

) 3329 B
i eI -~
///
/ T T o
j i \ \
1 i - \
I // . \ \
| / =()> \ !
< ! l’ I \‘ ! o
© | ' __________l____ J i | )
> ' '. | ! -
! \ Lol b / | N
| \ CD ) X
N = i
& \‘\ | /
N ] » /
o0 \ B, J. ____________ - ; V
~ \
\\\
Y Y S~ L .-
B 2213 B
~ 4427 -

- g

il
'

EN 16630

0.45m

J

(Fitness Range

Issue L 15/05/2019

18736




'FS036 Finger & Arm Stretch
B 3253

v

/ <% EN 16630
\\ id
'lll.‘““I

_ EN16630

@)

/ V\Q@ 2 >

1237
I P
P
//
/ B =
/ |
/ , I R
] / R A \
/ / AN l____~
ﬂ- [ " | } | }
~ — I | —————“-—-l— £
<~ A ! ! } | |
o™ | ‘\ | } ’: |
\ \\\ // /:
N \ B
m \ L
Te) \
< \\
\\
\\\
Y | e B
1737
B 4253

[—TL—

EN 16630

(Fitness Range Issue L 15/05/2019

19736




(FS037 Ladder Walk Assembly

1099

y ) O
<
e}
o~
3
0
0,0
[_ 2000 _
O o——
o
o
NG}
O O [
10 6 4.8 x 16 ALU BLIND RIVET 10360516
9 1 Ladder Walk Label FS70000037
8 4 Tower Gasket &88.9 19023802
7 8 M10 SADDLE WASHER 38001019
6 12 |Raised-head screw (M10x30) 10121030
5 12 [IM10-WASHER SH-PROOF 10301000
4 2 Ladder Walk Handrail GYM2003
3 1 Ladder Walk Rungs GYM2002
2 4 |Sports Fixing Spacer 19025501
1 4 Ladder Walk Post GYM2001
Balloon Qty Description Doc. ID

(Fitness Range Issue L 15/05/2019

20736




(FS037 Ladder Walk

_ 3842 - /
______________________  EN16630
“ /’/— \‘\\ Y
- ~
// \\\
// \\ oy
// \\ [ II"""H.
/ \\
/ e \\ i
1 L ~
/ p ~ ) . EN16630
\\ \
\\\|

T

3689

1544

1544 _
- 5089 _

i\
i
EN 16630
. 0.1m |

(Fitness Range Issue L 15/05/2019 21/36




(FS038 Twister

2960

A

- -
-

!

v

EN 16630

1350
| -7
7
T
///
//,
/
/
/
o ! !
© | !
© 1 :
| v
\
(@) \\
g |
— \
N
N
RN
| |
2010

-
-

»i

EN 16630

_{®s 735)

A

il
'

EN 16630

.

0.55m

J

(Fitness Range

Issue L 15/05/2019

227736




A,
0
@2)

(FS040 Leg Press

2854

v

EN 16630

»i

EN 16630

— @)

—(®r 2 )

il
i

EN 16630

0.70m

(Fitness Range

Issue L 15/05/2019

23736




'FS100 Sit-up

= T - -—-—" \\\
7 N
1 N
/ \
Vi N ettt =

< EN 16630

3410
Lﬂ).‘
2000

/ C : : ; N
o \
o~
[ee}
2 )
Ln
0.0
o
o
~
e N /. g
o
D & 1540
|
(J (J
S2 (50mm) 7 — Key Art No Description Qty P N
>C20-25 ﬂ 1 GYMS00 Sit-up Frame 1 #}
§ C ( :| 2 8038124 |Large Seat 1
7 x 24h ] _J 3 10291000 M10 Washer 8 t
4 10261000 M10 Nyloc Nut 4 !
@ 101 5 10121030 M10 x 30 Resistorx 4 EN 16630
\ ‘ 200 0.89m

. J

(Fitness Range Issue L 15/05/2019 24/ 36




FS101 Body Curl

7’ - B -
/f
/
/ e A D S \
, - N
/ y - _ EN16630
1 / | D
o~ I ' ) L} o
IR I
} 1
\ 1228
\ N \
\ AN .
\ S~ - - VAL
\
\ -~
w00 |
4228
@
o 8 [
e}
0,0
o
(@)
<
s N B ) i
S
- S . nw
] '
L J L J
S2 (50mm) Key ArtNo  Description Qty .
1 GYM501 Body Curl Frame 1
> -
2C20-25 § 2 8038124 Large Seat 1 *
3 10291000 'M10Washer 8
7 x 24 ]
4 10261000 M10 Nyloc Nut 4 !
5 10121030 M10x 30 Resistorx 4
EN 16630
ey 1ot 0 0.69m
Fitness Range Issue L 15/05/2019 25/ 36
\ J




Vs

=5

N

S2 (50mm)
=>(C20-25

€43 7x24h

/O 101

J

(FS102 Balance Beam

3100

v

2000

EN 16630

»i

EN 16630

— _ .
L35 )
6000
o |
3
0,0
(@]
(@]
<
S
I8V 2700
o — —
o
ok — —
500

v

il
i

EN 16630

.

0.35m |

(Fitness Range

Issue L 15/05/2019

26736




(.

J

.

0.35m

FS103 Beam Jump
1000
/' _______________ -~
,/ - ‘\
// - N \\
|/ ’I/ \ \\1\
> | | \
Lo i  EN16630
o L
| R Ry
% e — __i i i === /, §
) pres i i | ®
/’ 0 | i < EN 16630
/ T
% I i C >~ : | T
T — (35 )
;I AN . ’
\\\ - /,
1500 2900
6196
9304
(G N — :) N
7 il
0,0
o
g
e N\ § §
rﬁ
L J L J
S2 (50mm) 500 ) .
>C20-25 = #}
7 x 24h sl | — J i \
C )
— — 1
7O 101 2900 3075 EN 16630

J

(Fitness Range

Issue L 15/05/2019

27136




'FS104 Hyper-
Extension Bench

S2 (50mm)
=>(C20-25

€43 7x24h

7O 101

(.

3200

3810

v

760

400

200

1100

500

500

EN 16630

Key

v b W N

Art No
GYMS504
8038197
10291000
10261000
10121030

Description
Hyperextension Frame
Small Seat

M10 Washer

M10 Nyloc Nut

M10 x 30 Resistorx

Qty

H~ D 0

}

H

}

\

EN 16630

.

0.76m

J

(Fitness Range

Issue L 15/05/2019

2836




(FS105 Push Up

4280

— —_—————————————— .
=7 .
7, N
7,7 N
, AN
7 \

/ 1\
oo Lo P EN 16630
/ | I \/ =
b v
I : ! |
1 | 8‘ : |
8 I | — ! 1
<
N oo
| | 950 ‘ | |
| : | ., EN 16630
\ 2280 T Al
! | L
\ l\ [ 'l’
\ 1
N\ \\\ // // @ J 35
N\ N //
Ny L.
\\\ --———_—_-—‘//
1511
5302

j
/

0,0
o
g
o
B R St — -
|
o - 440
S2 (50mm) , .
2(20-25 3 = - - L] #’
Ln
7x 24h — | ' — % \
A7 01 500 940 OEN4£6563rOn

. J

(Fitness Range Issue L 15/05/2019 29/ 36




FS106 Horizontal
Ladder

R. //‘- ------------------- \\\
7500 , \\/ %
4060 N
/ \
'/ < N \ EN16630
| C > T [}
g ! : : =) I §
" : P |
1 ‘\ > 1
\
) I AN y
\\ Q‘QQQ \ <
/
\\ 7
S - o/ /35 )
1500
7060
kd 7
f‘ Z < ‘N
~O le} le}
O
~ ————— e
0,0
o
o
~
2.1 I ]
4 1\ o
S 4000
N
% @ ‘\ ‘\ ,ﬁl
2= s s L]t &
>(C20-25 N Vo Ny Key  ArtNo Description Qty
— () () - 1 GYMS570 Horizontal Ladder Upright 4
7 x 24h S L ] 2 GYMS571 Horizontal Ladder Top Frame 1 Itl
3 10291000 M10 Washer 16 !
@ 101 500 4 10121030 'M10 x 30 Resistorx 16 EN 16630
- g . 1.15m |

(Fitness Range Issue L 15/05/2019 30/ 36




Vs

N

f
2
0,0
S
"
o
& ‘ 3480

( )
FS107 Parallel Bars - __
i ~ %
// N
/I/ , //’ B \\
l, / \ \l‘“  EN16630
® ' i ,: I N
\ \\\ 3540 ‘ !
\ I
\\\ - .- / | EN16630
. B E 7N Al
N
1500 - \Q@ 35>
5:
N

S2 (50mm) , .
2(20-25 5 — #’
7x 24h 3 | s =a % \
RALN 0.95m
(Fitness Range Issue L 15/05/2019 31/ 36




(FS108 Chin Up

( N\

LD
@ o
S2 (50mm)
=>(C20-25

€43 7x24h
/O 101

J

3060

1944 !

v

< EN 16630

ol w 7
~O L
O
N N
0,0
o
o
<
L
S
N 1885
o 1 ]
(@) C D
0 L1 L
500

< EN 16630

o/ /35 )

[—TL—

EN 16630

.

1.26m

(Fitness Range

Issue L 15/05/2019

32736




(FS112 Step Up

2510

, 260

0,0

v

EN 16630

EN 16630

@)

400

’/'—‘\
- ~
rd
/7 AN
7 —=— = N
A / SR
//’ > \
/ .7 \
1 /’ \ \
/ —_— \
’/ : NS | o .
- - I
S l : U o © / |
™) | — \l
\
\ \ / | |
\ 1
\\ N 991 / /
S o /
\\ ~~. . / -
S _ ’
\\ - Y
~ -
S )
24193
aQa_ ) .
™ ~<
®
(@]
<
[T}

—L
S2 (50mm) > Key Art No Description Qty p .
>(C20-25 1 GYM512 Step Up Post 1
— 2 GYMS56  860Step Up 1
7 x 24h 3 GYM557  960Step Up 1 ! \
445 4  GYM558 1060 Step Up 1 i
7O 101 EN 16630
) ’ 250 _ 0.46m |
(Fitness Range Issue L 15/05/2019 33 /36




'FS113 Dip Station

3324

v

1 - ™.
,’ P S - S /  EN16630
/| e
] U \ \
o1 FREE
. E
\ '\ « EN16630
\ N 1944 /\
\ - . ’
\ S . _____ /
N x \Q@ 35 >
1500
4944
o
3o (7 A
s
0,0
o
o
~<
o
( ) & 1885
LD
° ® (_l l_)
- |
S2 (50mm) 3 .
>C20-25 % #’
= = ]
7x 24h 3 A= = %
@ 101 500 EN 16630
\ g 0.8m
(Fitness Range Issue L 15/05/2019 34 /36




w
6)
(40]
S
|
|
|
\
! f \
| | |
! | _
! _ !
| ! |
I | |
» | | |
Q || | _
n \ ~ |
o |\ \ ]
N \ / @
Q| N e N e &
© S
6 - Vo)
1 ||||||||||||| b wt
Z ®
E >
A_ @
n m
d ()
S &
m. &
o 2
fA £
=
J




tion Check

~
~

(Appendix B_Rower-Posi

(Fitness Range Issue L 15/05/2019 36 / 36




